Fe2[E L A REH R HUKKBE AR

DaZTBF

3 FeomPERENIKKEBHERKESEEFEES 201458118 wWAEsLERSARKKT—IL
J—NLarF4La58118 0900  KiE:EEh =;8:26°C 7Ki8:28°C
58118 1300 X{EkEh =iB:275°C JKiE:28°C
HER 7 BB ER |2 B #E |9 krKER |4 S0 KH |5 BK KX |6 TH EW | 7 AE &N | ¢ HF F=X
50m TR N =k =k i [EAmth thi |k 1 | TR N5 | TR f1|Fk 1
27.53 28.62 28.70 28.93 30.94 31.92 32.30 33.37
S 7 BB ER |2 BB Ht— |9 BE KM |4 K EX |5 oW Rt |6 EH EI | 7 BHEH BN | ¢ TR ECD
100m | FE™ /N6 |FERTH 1 |EAmTH i |EAmth thi |FER 1 |EAmth oA hi|Fk T 1
ke i 59.46 1:01.89 1:03.88 1:04.52 1:05.60 1:06.53 1:07.65 1:09.44
P 7 OKHE Bi | 2 BB B4 |3 K BX |4 BB "E | 5 A BE
200m TR 1 (O 1 |AfEmh 1 |Fk T 1 [ EET 411
2:19.56 2:22.06 2:22.66 2:25.56 2:32.26
o 7 O EBH EW |2 @@L KE |3 KB WY |4 BEMBE |5 BAKBA |6 FE K |7 BA X | & HE KH
50m IWES/NEFAR™ i1 LA /N6 | TR A NE=TE L A=k N6 | EET N5 | mTH N6
AE#H 31.00 33.96 34.14 34.45 34.48 36.66 37.38 38.54
s 7B KE |2 BKBA |3 EH OB} |4 FE K |5 EE X |6 FEE &K |7 /NI HWE | s Al #X
100m g e | EET 1| 1|l e | EETTH N5 |FR T 1| KSHE N5 | ILBS/NEFET e
1:11.63 1:14.59 1:14.88 1:19.31 1:20.14 1:22.73 1:24.88 1:25.72
TE 7 OINIEKRER | 2 EBE BE |3 KB RE |4 R FL |5 BF FE |6 BN BE |7 HERE KB | ¢ BN FE
50m KEE AT N6 | B FF T NG|k TH 1 | TR N BT thi|Fk T /N5 |IUFS/NEFER T /N
35.94 39.12 39.69 39.70 40.49 40.77 41.23 42.57
7ONIEXRE | 2 HE KR |3 RN EL |4 BN RBE |5 FE RE | 6 TR FE 8 EHE (B
AE 1 |ErEH Bk o1 |BFAF &1 [BAAFTH 6| TR N TE™ N
FikE 1:20.15 1:20.62 1:27.13 1:29.29 1:30.18 1:30.86 1:31.56
100m 6 ®™E B3
EEM N6
1:30.86
NETSA 7 OR¥M =18 |2 BB H— |9 Mo BAM | ¢4 A& BX |5 EAKER |6 AKX |7 BN BEX | ¢ KXF HiE
50m EEM 1 |FEH 1 [BhRFF T NG B ET Al 1 | EETH INEL:L NG | BT N6
29.18 29.43 32.20 32.62 33.29 35.78 36.01 36.92
"ao54 | ! M =48 | 2 d)l B | 3 MS BAM | 4 & Ft |5 Al #X
100m EET 1 (lLAw o1 |BFAF T ING | FERTH o1 |IURS/NEFET i
1:05.81 1:09.16 1:13.07 1:16.90 1:22.45
BEIARL— 7 OBH B |2 BNl B | s TEH EE |4 HE KRR |5 BK K |6 A B} |7 AE BK | 8 THH EW
200m  |WBS/NEFET 1| liOTH M=k INEL L thi |k 1 | EETH N6 | EETH N | TR NG
2:24.10 2:33.29 2:35.52 2:35.75 2:43.62 2:49.09 2:51.66 2:52.96
Ak iva - p2iva 3L FAlL 5L E6{IL - Wkiva 8L
Bx o EET A TEm i b FERH ILFS/NEF R T
BE tE 2648 1374 1114 854 634 6258 514 304
- Akiva - p2iva 3L FAL 501 E6{iIL - 9Liva 8L
TF o Amt EE™ TE™ il & FERH LLiF5/INEF B T
BEfE 2184 1465 10925 98 694 428 394 384
F14L Y2 3L FEML FE501 E6{i - 9Liva X1
B4 o Amt EE™ TE™ bl F FER IMEYN 250
e tE 4825 2574 24615 18354 1324 938 904 6855




Fe2[E L A REH R HUKKBE AR

VAT &TF

3 FeomPERENIKKEBHERKESEEFEES 201458118 wWAEsLERSARKKT—IL
J—NLarF4Lai58118 0900  KigMFEh  =B:26°C 7Ki8:28°C
58118 13:00 X{g:FEh  =ER:275C KiE:28°C
R 1OEE R |2 HARR |3 RKRSE |4 FE K |5 BIXE |6 ZHBF |7 HS tEB |8 Mt BS
50m B A N6 | EET 1 EET N6 thAT M6 [LAT /N6 | B mTH /N6 |l AT f1 AT ING
29.49 29.54 30.57 30.99 31.81 32.28 32.38 33.23
. 7O FIRET |2 £B XL |3 M EF |4 KE |5 BIEE |6 RH EE |7 B Xx¥ | 8 HAN S
100m |EETW 1 |BFAF T /N6 | 1 |liOm N =k N =k NGB i) AR E il NG
1:05.05 1:05.45 1:06.22 1:08.13 1:10.49 1:10.58 1:12.53 1:13.30
. 7Nt EF |2 M XK |3 BT BE |4 KR S$L |5 RE EE | 6 AN EE
200m |EFET T = e | EET f1|EET e LA N6 |EmTH H1
2:21.34 2:27.20 2:27.43 2:29.92 2:31.63 2:34.53
o 7R XE |2 KR BX |3 BEH | 4 EARARTE |5 RIHSV |6 FKk mEE | 7 HP £F | 8 EE WE
50m EEM B o1 (IWBS/NEFET /6 AR ti | TR 1| KEER 1 |EAmTH =k N6
31.97 32.69 33.18 33.63 33.87 36.36 37.54 37.80
o 7OKRKR EX |2 IR XE | 3 AT Mg | 4 RIIHSV | 5 EARAE | 6 FHKk mEE | 7 BE T4 | 8 EE WE
100m |k T 1| EEH /N6 |WLIBS/NEFET /6 | FEST EEL:D 1| KSER 1 |BFAF T NN =k N6
1:10.19 1:10.84 1:11.11 1:11.96 1:13.22 1:20.50 1:22.24 1:23.48
T 7 HWFRNE| 2 RBEEIR| 3 kAKX 8B |4 FEH BEK |5 KTedH | 6 Kih FEHt | 7 #HS KT | & HE %=
som  |BEAFT 1 |WEB/NEFET o1 |ILOT 1| ERTH CEG L 1| K B2 N5 | BT 1| @M 1
X&#H 37.46 37.89 37.93 38.28 39.39 39.82 40.37 41.35
TgE 7 RA BK | 2 HFRXKS| 3 ATLdH |4 BR PR | 5 BS X5 | 6 BEEBHD | 7 #F 2% | ¢ A& x£E
100m |FETH o1 [BhRFF T 1 |EAmTH A UNEL:I) o1 [WWRS/NEFET s IO UNE=IE k] N6
1:22.65 1:23.36 1:26.50 1:27.31 1:27.62 1:28.90 1:31.06 1:32.23
NETS4 7R M |2 RO YF |3 ERN BE | 4 KF EZE |5 BE M| 6 Ksh B | 7 M RS | 8 =% MF
50m =L f1|EET T =k N6 |EmTH filhOm® 1| KSER N5 |E T N5 |E T N6
29.80 31.39 32.23 32.33 32.85 32.95 33.91 35.04
Nao54 | ! BRE T | 2 BN BE |3 KO x| 4 BRF |5 KT XZE |6 T BE |7 =B #m| s L EF
100m |A®T i | liOT NIE=IEh Bi(Fk &1 |ErEH 1 EET A=k i | EETH N5
1:06.64 1:10.68 1:11.25 1:12.20 1:13.35 1:14.26 1:18.66 1:20.22
BAARL— | | B X#H | 2 ERK ® |3 EEF |4 WERBHME| 5 AN =B |6 HFN £E |7 HE B | & Ll £
200m o N =k 1|Ek T 1| EET N6 |EmTH 1| KA e |EmTH NN =k $1
2:39.71 2:43.09 2:44.97 2:48.96 2:53.18 3:01.33 3:09.00 3:10.04
FEL 2L kv FALL FE54L E6{iL - 9Liva E X102
B¥F T EE™H Am TE™ bl F FER LIS /NEF R T
BEtE 26458 1374 114 8514 634 6258 514 3084
L F2fL 3L FALL HE54L 64 EL E 1:02
TF T Amt EE™ TEm bl & FERH LIS /NEF R T
B piE 2184 1468 1098 9815 694 425 394 384
AL 241 H3hL Hahi 854 e el 8h
B Tk At EE™ TEm i F FERH LIS /NEF R T
mBEtE 48245 25784 2465 1834 13255 9354 904 6825




Fe2[E L A REH R HUKKBE AR

BEREBF

3 FeomPERENIKKEBHERKESEEFEES 2014458110 woEssiERaAEKKT—IL
J—NLarF4La58118 0900  KiE:EEh =;8:26°C 7Ki8:28°C
58118 1300 X{EkEh =iB:275°C JKiE:28°C
B 7 OEHE AR | 2 BE EX |3 KB UM | 4 T EIS | 5 KA BH | 6 EHEZN | 7 kB ME | & HiE EFE
50m B i —s LA &3 8Eh =M=k X3 |E5EH &2 |5EH th3 | Emh &3 |Erth =2
23.52 24.43 25.13 25.29 25.32 25.84 26.03 26.07
7 ORE EK | 2 ©HE 4| 3 BUUXKH 5 TEEE E} |6 A KEH | 7 WA KF |8 BHRXK E
o &3 E2Eh &3 | FEh =3 o X3 |E5EH &2|bhEh 2| 8Eh h3
B 52.87 54.53 55.29 55.49 56.68 57.09 57.56
100m 3 WK ®HE
e &2
55.29
Em 7 BR BE | 2 WA BHE |3 i BA |4 BH BA |5 B BK |6 HE BN |7 Bk EKXK |8 AH BE
200m |WATH E1luom 2\ luOwm &3 | Ws/NEFET Gh3 | AT =3 |E5EH &3k ™ &2 | B 3
1:58.46 2:00.16 2:00.58 2:00.64 2:03.29 2:03.66 2:05.26 2:09.55
S 7 OBEAKR EE | 2 s BA |3 B BA | 4 BHHNBLIEM| 5 Mk EX | 6 WA KTE | 7 KRG BEE | & EE B
400m o ==k &3 WEB/NEFET 3| liOh E2|% =2 |FEW fi2|Fk 3| EET =2
4:08.53 4:14.79 4:15.03 4:22.87 4:24.17 4:25.26 4:30.68 4:39.99
HER 7O RE K%E |2 5% EW |3 HHRHEIE | 4 WX B |5 BE BE |6 BH BB |7 FE KR | s AFE #%E
1500m  |FERTH 2| EETH &1|Wom H2| o B2 | BET H2|lOwm th2|IlOw K3 | KB &3
17:16.22 17:16.61 17:35.62 17:56.79 18:12.93 18:16.83 18:19.36 18:33.00
(800m) 9:08.78 9:08.84 9:13.41 9:30.88 9:31.80 9:43.28 9:41.78 9:43.26
" 7 OMAKEKE | 2 Z=8F R |3 EHh O F |4 HBECKR |5 MR |6 H FEH#E | 7 MEI K| 8 BEBK BE
50m TR th2 |FETH E3lnom th2 ([Fmh th2 | &R th2 |ERg th2 |FmH th2 [Bh R 3
31.79 31.96 34.86 37.00 37.26 37.95 39.28 39.54
o 7 B8 B |2 FEBRK |9 BK B} |4 HLE B |5 BH UE |6 Hh FE | 7 BREAR| 8 FE bR
100m (AT A2|iAT &3 8Eh &1k ™ =2k ™ ==k E2|luOwm 3O h3
- it 57.63 1:00.33 1:01.26 1:01.50 1:03.44 1:06.40 1:06.98 1:07.38
P 7S B |2 B BXK |3 BK B} |4 HE EH® |5 BHF UHE |6 FNEA X | 7 BAREKXKEB| & HFE AR
200m WO K2\l B3| AET Bk B2k =2 | WL/ AT 3| liOT 3|l O t3
AS¥H 21060 2:12.17 2:12.86 2:15.78 2:16.28 2:23.48 2:24.06 2:26.23
FE 7 OBHF ORA |2 R KA |9 ME —# |4 Kkh FE |5 HFHEHBEAN| 66 H FHE |7 NA\® EA| 8 AL RE
50m #& &3O &1 | FEm &1 8EH =3 E5Eh 3| E5EH th2 [ FF &3 |Eh (=1
AEH 31.74|K£H 32.23| K& 32.62 33.19 34.18 34.66 38.44 39.52
TE 7K RS | 2 KB UE | 9 @ K2 |4 A KA |5 BNl sk | 6 BHE KE | 7 BB OE | 8 BH RA
100m | FEAT 3| EET =1 |Amh R =k5 =1 |EAmh 2O X3 3 |Fk T =3
Brh  1.05.65 1:06.68 1:07.07 1:08.17 1:10.40 1:10.50 1:10.60 1:10.92
Tk 7OEA RBH | 2 M KRS |3 BB & |4 BN M | 5 B OKE | 6 EF =8 | 7 Ha BE | 8 ER mME
200m | FE™® th3 | Emth E3lnom th3 | EAmth Z2(lhA X3 | TE™H &1 | FEHm M=k 2
2:22.49 2:26.76 2:28.24 2:29.05 2:29.48 2:36.16 2:39.56 2:39.96
Nao54 | ! WE 28 | 2 #h #H |3 @R &F |4 B =X |5 BH BE |6 FE EA |7 EE BH | 8 #HE CH
50m B A =R =k) X3 |EET th2 | TR 3O 2 | EET E3|TEW 3| ErE th2
- il 27.61 29.14 29.49 29.82 30.18 31.00 31.53 32.91
NETS4 7ORE B |2 BE =X |3 FRE BFE |4 Hh ET |5 HE 22 |6 FTE OE |7 HEA X | 8§ WHX—H
1j0om |A@E™ Bk ™ =2 |Am =2\l0m =1 |BERFTH =3k &3 WWEB/NEFET 3| O 2
56.00 58.20 1:00.29 1:01.75 1:02.20 1:02.78 1:02.83 1:03.43
Naos4 | ! B BK |2 #E BM |3 HY EIT |4 FEHE EB |5 FE R |6 EFE B8 | 7 LB #F | ¢ HBF BE
200m ¥ T &2 |Erh E1lom =M=k h3 |k =Z3(A &2 |phFh 2% ™ 3
2:08.59 2:08.68 2:13.61 2:15.79 2:21.64 2:22.25 2:22.39 2:22.69
BAARL— 7 WA —KR |2 B BXK |3 BEXRK XE|4 ANGBE—HE|5 WFR |6 A B | 7 BAEKHR| s BH Lk
200m AE B35BT =3 |Amh &1 |Amh &3 [BhAFT &3 |BhAF T B3 ™ =3|am =2
ASEH  2:08.00 2:11.70 2:12.27 2:22.69 2:26.28 2:26.80 2:27.25 2:28.68
BAAL— | 7 WH —E |2 B BK |3 BX XE |4 FEHE EE |5 KR FR |6 =2 FW | 7 ARE—H| 8 BAEKRR
400m | KRB &3 8Eh &3 | Bt =M=k th3 |E R 3| EEH &1 |EEh h3k =3
ASH | 436.93 4:44.24 4:44.60 4:50.09 4:55.15 4:55.49 4:59.50 5:09.19
Ak iva - p2iva 3L FALL 5L E6{IL - Wkiva 8L
Bx o EET A TEm i F FERH ILFS/NEF R T
LA E 26455 1378 1M1& 854 634 625 515 304
- Akiva - p2iva Xl FAL 501 E6{iIL - 9Liva 8L
TF o Amt EE™ TE™ bl & FERH LLiF5/INEF R T
BEfE 2184 1465 10925 98 694 428 394 384
F14L Y2 3L FEM FE501 E6{iL - 9Liva X1
B4 o Amt EE™ TE™ bl F FER IMEYN 250
BEfE 48255 25745 24655 1838 1325 9354 904 6855




Fe2[E L A REH R HUKKBE AR

;AR L F

3 FeomPERENIKKEBHERKESEEFEES 201458118 wWAEsLERSARKKT—IL
J—NLarF4La58118 0900  KiE:EEh =;8:26°C 7Ki8:28°C
58118 1300 X{EkEh =iB:275°C JKiE:28°C
B 7 OBENEF |2 KNEA BE |3 BE BE | 4 LK B |5 WHEEAES | 6 BE E | 7 EE WE | s FIB EE
som | FEAT R M=k 2| FEATH 3|1l A 2| FEH M=k &1 |LO 2|l AT 3
X&#H 26.90 27.39 27.40 27.63 27.90 29.46 29.60 29.61
& E 7 BRENSEF |2 BE BE | 2 WHELA |4 HNEA BE |5 ERRXK K |6 MR BT | 7 Fe EE | ¢ TE LE
100m | FEAT E3|TEW 3| FEAH 2 s2lhOm =2 |B5RF T =pAli=k) 3| A =1
X&H 57.36 59.21 59.97 1:00.10 1:00.79 1:02.71 1:04.74 1:04.88
P 7 RBEEM |2 MRME | AR BW |4 FRREF |5 KR W |6 B Bk | 7 KR BE| s #HEK BN
200m |WATH =2 BT =2 | FAb T ==k 3| Bmmh th21liAT = EE® th2 | 3
2:08.38 2:14.29 2:17.06 2:20.80 2:21.80 2:23.88 2:25.62 2:30.34
o 7 O REER |2 NB BE |3 KR W |4 HHE ER |5 FE) KIE | 6 BEH EF
400m |WOH &2\ luOh &2 |Erh th2 | TR 2|3 ™ =3|A =1
4:30.04 4:44.17 4:52.62 4:52.66 4:59.65 5:15.97
o 7MNE BE |2 BRE ER |3 F) OKE | 4 BE BEF |5 TN HF | 6 EWM =L
800m o =2 | T B2k ™ RI=k5 =1 aW X2 |EEH =2
9:42.85 10:00.61 10:10.44 10:51.04 10:53.23 11:25.02
- 78K K# | 2 R BE | s B Bl | 4 FK BXR |5 KW R |6 s EFE | 7 L0 #BF
50m  |#k T &2 8EH tho (% th3 | ETH 3| EEH =2 | th2 [BhFF &2
X&#H 32.85 36.67 36.77 37.10 37.28 47.24 47.28
o 7ONNE RE | 2 WHEERAEF | 3 AR E| 4 BN E¥E | 5 ERLBS |6 EE BE | 7 NLURAF| 8 EH BFF
100m | FE™® &3 E2Eh &1 |F&m 1| WS/ ET S1|HFT 1A th2 |FETH 3k h3
1:04.09 1:05.53 1:08.67 1:09.05 1:09.62 1:10.49 1:12.75 1:16.95
e 7NE RE | 2 MERMAMETF | 3 B EE |4 BHREHMED |5 BH FF | 6 )X B
200m | FEAT™ E3|85Eh &1 WS/ ET S1|HAT =40 E ) th3 | TR 2
AS¥H  2:16.60 2:22.18 2:30.33 2:34.64 2:44.04 2:44.90
T 7T OBH EFE |2 8 AHEH | 3 kE EK | 4 ERALGTH
50m W i th2 | TR &1 |EEh th2 [BhFF #2
38.56 39.20 41.79 55.87
7Ok k|2 kAKX E 4 BH HE |5 BRL FE |6 XN BE |7 #%E EAXA | 8 EFIOM
wam =3|lam $3 f o th2 B =3 | W/NEFET 2 |lLOH 2 (IO 2
FEikE 1:13.75 1:17.49 1:17.76 1:18.16 1:19.59 1:23.19 1:23.87
100m 2 WT H%#H
TEAT 2
1:17.49
TgE 7Ok K |2 BHF B | BH HE |4 WT WK |5 B TE |6 AKX B |7 KN BB | 8 ®E EA
200m (WA &3 |Erh h2 (% T th2 | TR w2 |ErE™ Z3(luA 3 [ IWWB/NEFET 2 lLOm h2
2:36.50 2:42.81 2:46.04 2:47.01 2:51.05 2:53.08 2:56.60 3:00.61
Nao54 | ! TS FE | 2 AWELKF| 3 #HU BEF | 4 BH KF
50m At 2 |F & 3 | E5EH =1 |FAmm &2
31.14 31.60 32.13 36.90
NETSA 7 OBRLMEER | 2 RE FE |3 LFR3E | 4 BRER B | 5 FRREF |6 BRE BFK |7 HE FE | ¢ A B
100m |EmM® t2|lLOwH H2|womwm B1|womm H2 O 3 |#k 3| AT d2(lLOwH H2
1:04.99 1:05.42 1:06.44 1:06.91 1:08.41 1:08.62 1:08.73 1:12.25
NETSA 7 BRLME®R | 2 RE FE | 3 EFH5%
200m |EET th2 LA 2| luOh =1
2:21.75 2:26.22 2:33.71
BAAL— | 7 FW BX |2 AE BX |3 BHF BHM |4 B8HF Bk |5 Lo BFF
200m |EEM &3 |Eih 3k &3 |EfEm s |lOm A3
2:19.56 2:22.06 2:23.43 2:28.64 3:07.56
BAARL— | 7 FH BE | 2 #HH*F BM | 3 BE BX
400m |EEMT &3k ™ &3 |Erh h3
4:55.26 4:59.78 5:04.83
L Vi 3L FALL HE54L 64 EL g1
Bx o EETH At TEm bl F FERH IMEYN 250
e piE 26454 1374 MA 854 634 6255 515 304
L E2fL ki FALL E54L 64 L 1
TF o At EE™ TEm i & FERH IMEYN25 0
BEtE 21854 14655 10955 9855 6924 4245 394 3824
Ak iva - p2iva 3L FAlL 5L - iliva - Wkiva Y1
B o At EE™ TR i F FERH ILFS/NEF R T
LA E 4828 2574 24618 18324 1324 93 904 6858




